Hoermander 0 0000000000000 O00O1Y

gooooooooooooooooobobooooo

gbobooboboobooboobooboobboobobooboobooboobooboo
uboboobobooobooboooon

1 000

1.1 OD0dooooooooo
QcCroooooooood

l.u:Q—=RU{—00}00000000000OVZeY, VoeC"ODOOOO

wo b : ¢ () — [—00,00) 0000000000000

w

000D0¢g(r)=Z+76 (reC)0000QO00O0D000000O000000 P(Q)O0OOD0

(a) ue C2(Q)0000ueP(Q)D0000000O000000
L(u)(u‘;’)*zﬂw-ﬁ >0 forVZ e, W= (w,w wy,) € C*
7jk82;]a§k jWE Z ) - 1, W2, s Wn
0000000000000 L(uw)(w)>0000000uweC3(Q) 00000000000
(b) Vzo € Q, A(Zo,F)CQDDDDD

1
D) ard) - (ar) /Am,;) u()dv )

u(zp) <

ooooo
(c) ue P(Q), u(z) # ~000000w0 QODO00000000

2. u,v € P(Q), a>000000au, u+ v, max(u,v) € P(Q)

3. (a) {up}ren CPQ) D uy lu(v—00) 00000000 ueE P(Q)

(b) vy —u (p—0o0)0 QNODOO0O0O0O0O00000Ou, € PQ) (keN), u(Z)# —oo for VZ € Q
0000ue P(Q)

4. peDR)0OUp>0, supp pC [0,1]0000OOOO
1
277/ plx)dx =1
0
Ubdde>000000

p=(2) = ginp (?') p <|Z;|> i

(Z;|> for VZ = (21,22, ,2,) €C"

00000 http://www.sugakukobo.com/



O000O0p: >0, supp p. C A(0,e) 0000

[ p@avia) =1
0000000000ue P(Q)NC®(Q)00000

uxp: \yu (¢10) inQ
U0o00boo00bDd0Ouwxp. 0wl p.OO0O0OOOOOO
(e p)(E) = [ al@)p.(z - @)V (@)
5. fO0CtrO00DO QUOCtrO0UdD00 pODO0OOODOODODOOOOO uEP(D)DDDDD
wof=f*u):Q—RU{-00}0 QOOODOODOODOO

6. 000000Te®0vweP(Q 0000000000 DO000O0ONONOONO000e>000
000 ¢e®(Q,R) 00000

0*T _ S n
Zif (p)w;wy, >0 for Vb = (wy, we,--- ,w,) €C
jkaZjaZk
ooooooooogo
oooo 1.1.
1L feA), f£000000|f], log|fle PQDOODOODOOD
2. feP(Q)UO0O000expofe PQOOUDOOOOODO

o0 1.1 (p—0). QcC*O00000000 KO QOOOUOOOOODOOOOO
KOoOooooo

ko= () {zealls@l<swir}

KO p—-0OOOOO
Ko= () {ze Q1 |u(2)] < supu|}
K

ueq(Q)
goooood

0000 1.2. KCKqgCKoCcQOOOODODDODODOD

1.2 000000

cooQccCtrooooooon



o0 1.2 (D-00). Q0 D-O0O0OO0OOOOOO
§:0Q3 2 — —log(dga(Z)) e RU{—o0}
googooobooobooon

00 1.3 (L-000Lelong 100). Q0 L-000 Lelong 00000000 0ue C(Q)NPQ) D00
ooooodreROOD0OO
Qo ={z€Q|u(z) <r}ccQ

gboooooobooboo

00 14 (C0O0). QCcCrO00000OO0OOOOOOOUOQOOO0OD GOOOOOOOOOOOO
gooooo

1. Qc G

2. 0eC®(@G)NPQ)D0v0000000={2€G|v(2)<0}00000000000 Q0000
0oooo

QUO0O00000000 {Q}een0000Q, | Q2 (n—0o0)0000000NO G-000 GrauertO
gooooo

00 1.5 (P-00). QU POODOOUOOODOOUO QUOOUDOOOOO KODODOOK ccQOOon
oooooooo

00 1.6 (000000). UD A—(0,7) 00000000000 £:[0,1]xU—-Cr00000
Oa(t) = f(A\8) (M) €[0,1]xU 00000000 A€(0,1]0000000f, € AA(0,7),C")D000
000000000 £,00000

D) ={f(\t) eC" [ [t| <7}
D00000{D\)}py 0000000000000000D,§(D)0

D= |J D), 8D)={f(\t)eC"|[t|=r}
A€[0,1]

gooo

00 1.7 (Oka-00). Q0 Oke-00000000Q0000000 {D(M\)}reioy 0 D(0)US(D) cC Q
00000000DCccQONDNDNONO0ONNNNOnonn

OO0 by J.S



